1 JHJEY: §jto OW
r 4dz @ ftsdzj HJ dz ded €
I BLcORNPEPE slcdo'sH @ HESE 3 dzjls.
i [ oM ldhjoeryj ojfCdzjtecyly 1 dls Odzdgdz ,
64 ud ltedy &8 §dhd, dOddj dets f steygq G \ J dedzts )
skzter ;| ] CCOd u |
1 OolstcOC
182/07 |s Oh O sdgEa®Y dL W ydsj o ts2 §| 150/3 5,10 4,86 | 30,00 184 0,10
1/11 1 s toB totsHMdgd ag@ipdzisdi 20/5 1,61 4,10 | 10,43 80 0,14
392/11 [y 02 ) MOR Otctsds 150 0,04 0,00 | 6,99 28 0,02
RIsscts 6,75 8,96 | 47,42 292 0,26
]l ststets? LOolstcOC
9 10[utsS WkkCBbasAdy 2) | 100 | 050 [ 000 | 11,D | 47 2,00
I BJH
RCtcO COBOYS s OW 15 0,15 1,05 | 1,05 14 0,025
67/11 |zd dL Mmejxi2 SOfkmlkr M| 150/6/5 2,90 3,93 | 5,78 70 11,00
) g3 ls O dats 2
306/11, |1 dlstsySd tozBdzj dz' § dL | 50/15 7,04 7,4 4,42 119 0,19
350/11 |tskzmtd
B dzts Yy dz' &3
317/11 [[ Of 5@ 9 Otc dzOV 100 3,68 3,01 | 17,63 112 0,00
376/11 |stsfsls dL dL s B3O 150 0,33 0,02 | 20,82 85 0,30
mdzj B fh jddyde 2 2BHJEe 15 1,14 0,14 7,0 35 0,00
Mdzj B tc) O dzts 2 15 0,99 0,18 | 5,10 26 0,00
RIstsg ts 1623 | 15,73 | 61,8 461 1152
LY dztsls dzj dzdz’ 2 f tsdzH dzd €
237/11 |1 O j S OdS O dL lso stetse O 80/20 15,33 | 11,31 | 24,78 262 0,14
mdzj B fh jdedyde 2 2BHJEE9 30 2,28 0,27 | 14,01 69 0,00
[ sdztsC s 150 4,20 480 | 7,10 87 1,50
RIstsg ts 21,81 |16,38 | 45,89 418 1,64
I Mjigt 4529 | 41,07 | 166,81 1218 1542




i H jtfdgvice OW
i dp lsstedzed €
SLEOMSdZOY 1COBEOBEY s

i [ Of ldhjoery g9jfCdzjtecjls I dlsOdd de'
t6d ltedy &3 fdhd, dzOdd3j dzls f steyg d W Yty fdsiz ®Be
sktr o [ CCOod g | |
1 OolstcOC
18207 |s OO dBsdzsydzOw dL tsptn®iaz] 150/3 5,40 6,90 | 28,0 196 0,10
B0 fy drysiz o sy dz' o3
3/11 |1 ks tofgifs e 33O Mdzts d3 Mmdzd o t§  20/4/5 2,93 510 | 10,43 98 0,14
395/11 |stsW j2dg 2 &ZOf dlstsC fm dits 150 2,34 2,00 | 10,63 70 0,98
RIstsg s 10,67 | 14,00 | 49,46 364 122
] ststets? L OolstcOC
9 101 O0fdlsthfzh jfloar = wB dzts ¢ 100 0,03 0,00 5,45 34 0,15
388/07
lstgj WtkkClstsotsjy (W Bdzs\ydz 50 0,20 0,00 5,65 23 2,00
I BJH
71/05 Joshd Meajiydj (tektjy) 20 0,11 0,00 0,36 2 1,4
81/11 sl COlstsW j dzv [daiz2 M indzdzts I 150/6 4,99 3,21 | 11,30 87 3,49
B s B
298/11 || sdzzByr dzj dzdor | 50/15 4,45 2,96 6,52 72 6,51
322/11 |16 tcj COlstsW jdz desj M dBs 100 1,91 3,08 | 12,01 85 10,5
376/11 |stsdi3f sls dL S kttOc(d 150 0,33 0,02 | 20,82 85 0,30
mdzj B " j dzdfiqde'tsd Ozdz" 2 15 1,14 | 0,14 7,0 35 0,00
mdzj B to) Odzts 2 15 0,99 0,18 5,10 26 0,00
RIstsg s 13,92 9,59 | 63,11 392 22,2
VY dztsls dzj dzdz" 2 i sdzH dzd €
215/11 | [ Bdzj s dz2OlsktcOdz! dz@ 2 M &3O 80/5 7,52 13,46 | 1,86 148 0,15
mdzj B fhjdedydz 2 2Hd ot 30 2,28 0,27 | 14,01 69 0,00
474/07 |1 Edzsy$ © t simMimhd2 MC OwW 25 1,79 2,0 13,87 87 0,29
394/11 |y 02 M dBodsl sdg 150 2,65 2,33 | 11,31 77 1,19
RIstsg s 14,24 | 18,06 | 41,05 381 1,63
Il mMjiet 39,06 | 41,65 | 164,72 1194 27,2




L JHifzy o OV
4 dtej H O
]l BLtcOMIsdzOve £ Odstgre@tcdmwts 3 dzj Is
i fomMm¢ 1 dhjorj gjfCdjtecjls I'disOBd dz" ,
g 4 ltedy 8 §dhd, deOdd3j dets § steydg G Wy dzdzts fi ee{c]
skter i | [ CCOd | |
1 OolstcOC
12007 [ua k2 { Bsdsydr 2 M &Ofh s2] 200/3 5,74 6,36 | 18,83 155 0,68
1/11 J Zlsj toB tets H Mfipd 36 iy dzts o3 20/5 161 | 4,10 | 10,43 80 0,14
39211 [y ©2 M MO- Otetsd3 150 0,04 0,00 6,99 28 0,02
RIssgts 7,39 10,46 | 36,25 263 0,84
llsstes? f tsdzH dgd €
® 10[1 Of dIstsqL ¢ gL 100 0,03 | 0,00 | 545 34 0,15
388/07
1] WtkClstsoatsj (WBdzZcyd 50 0,20 0,00 5,65 23 2,00
IBJH
7105 [[otshd Mojydj (fsBfHBGEK) 20 0,12 0,00 | 0,66 3 4
57/11 |1 tsteh L Mo jxj2 COfkmlsr| 150/6/5 2,79 3,64 | 7,67 75 6,17
Md3d Is Odzts 2
stlsdzj Is' tezB dzj dedz’ § L 50 6,36 9,11 | 5,19 128 0,24
307/11
321/07 |s Of EMlsO Mo j 3y OwW IIskh j dzOw 100 1,98 7,82 9,50 80 16,20
376/11 |s B skhdgeL - MW B dzis € 150 0,33 0,02 | 20,82 85 0,30
mdzj B fh jdedyde 2 2BHdee 15 1,14 | 014 | 7,0 35 0,00
mdzj B toy Odzis 2 15 0,99 0,18 5,10 26 0,00
RISG ts 13,71 | 20,91 | 55,92 432 26,91
VY dztsls dzj dzdz" 2 f tsdzH dzd €
183/07 |s Oh O M ks ydz0? Yzt jigd 150/3 473 | 6,46 | 28,13 189 0,10
460/11 |s tcj dzH j dz! MmMOn Otcdz’ 2 25 1,77 3,28 | 13,94 93 0,00
mdzj B fh jdzd ydz 2 30 228 | 027 | 14,01 69 0,00
[ BdsC s 150 4,20 4,80 7,10 87 1,50
RIstsg ts 12,98 | 14,81 | 63,18 438 1,6
1l fipits 34,31 46,18 | 166,45 1190 31,5




H Jfdgvtce OW

1
Jdajlsejtec
Il BLtcOOBREHCMSH O HtS 3 dzj s

B [ O 1dhjorj ojlCdz oG j Is 1l dlsOdi3d dz' ,
ted Ud ltedy &3 §dhd, dzOdd3j dats f stey G y j dadzts ) 36
skzter J r v CC Oz d
1 OolstcOC
182/07 |s O O disdtsydzOw dL §h jdzd 150/3 5,55 5,86 28,8 190 0,98
1/11 1l ZlsjtcBtctsH fn "wOMzcd3 Mdz 20/5 1,61 4,10 10,43 80 0,14
377/07 |y 02 M O L tdftsdizts d3 15011/3 0,13 0,00 12,0 48 1,65
RIssg ts 7,29 9,96 51,23 318 2,77
l sstes?2 L OoalstcOC
dzO 1|1t WttkClsotj (WBddtsydz 50 0,20 0,00 5,65 23 2,00
388/07 |1 Of dIlssiEM j &L W Hdzs € 100 0,03 0,00 5,45 34 0,15
I BJH
71/05 Joshd Moajydjy (Bektjy) 20 0,11 0,00 0,36 2 1,4
84/11 gk COtlstsW jdzr dzf 2 M ter B 150/20 3,76 2,06 9,03 67 0,19
255/11, |1 dIstsyS d ter Bdz" j L O J yy 50/15 6,73 5,02 5,53 82 0,27
35411 Md3d Is Odzdz" d3
316/11 |t d f, ftodf zh jdedzr 2 f 5O 100/3 2,42 7,72 | 24,44 177 0,00
359/07 |s d mJj dz! dL mMtsC O 150 0,22 0,00 | 25,89 104 3,3
mdzj B fhj dzdtmE® @dz@tsd d 15 1,14 0,14 7,0 35 0,00
mdzj B toy Odzats 2 15 0,99 0,18 5,10 26 0,00
RIssg ts 15,4 15,12 | 77,35 493 5,16
VY dztsisdzj dzdzr 2 ff tsdzH dzd €
240/11 |V EHddze dL Iso tstednGs@ hfiy deds 80/20 10,89 8,54 | 11,70 167 1,06
B dzts € s d3
mdzjfeh j dzd ydz 2 2Hdtse Od 30 2,28 0,27 | 14,01 69 0,00
[ sdzs€ 5 150 4,20 4,80 7,10 87 1,50
RIssg ts 17,37 | 13,61 | 32,81 323 2,56
l mMict 40,29 | 38,69 | 172,49 1191 12,64




1 J Hifdgvee OV
[ 4 df Wisded yO
] 5L cOMsdzOw M1 C Oy OsteEw 3 dzj s
- fomm{ 1 dhjoerj eojfCdtecjls I dlsOdd dz'
64 ud ltedy &3 §dhd, dzOdd3j dets f stey ¢ Wy dadats 5]
Skzter o ] CCOow " |
1 OolstcOC
18107 |[s Oh O dyBwiztiRfdedzs 2 € teOffifdztsd  150/3 450 | 525 [ 2513 166 0,43
3/11 1 s | to ity tsteits d3 20/4 293 | 120 [ 10,43 65 0,14
392/11 [y 02 @ MOR Ottt 150 0,04 | 0,00 [ 6,99 28 0,02
RssG s 7,47 | 6,45 | 4255 259 0,59
] sstets? L OolstcOC
9 10|/ut®tkClksor 2 (wBdzsydy 2] 100 0,50 | 0,00 | 11,70 | 47 | 2,00 |
I BJH
7105 |[[oshd Moixdi (fsddHBEK) 20 0,12 | 0,00 [ 0,65 3 4
98/15 |wlkzf CtejMmis: wdzmCd2 f  flIs| 150/6 0,89 | 2,95 | 3,65 46 5,9
312/11 |s dzj dzd Cktedde § M tedMmtsdd 50/15 13,49 | 9,28 | 4,15 136 0,00
356/11 | d3d Is O ddgz’ daizlz € ts o3
321/11 |1 s tcj C OtclstsW j dz! dzs 100 2,04 3,2 | 13,63 92 12,10
376/11 |s sy sls dL CktcOcd 150 0,12 | 0,00 [ 21,75 87 2,10
mdzj B fhjdedyde 2 2HJtetso 15 1,14 | 014 | 7,0 35 0,00
Mmdzj B o) Odats 2 15 0,99 | 018 [ 5,10 26 0,00
Rss6 s 18,79 | 15,75 | 55,93 425 24,1
VY dztsIs dzj dzdz' 2 f tsdzH dzd €
469/11 |1 Ed&zsYyS O H iSO dgv v 75 546 | 9,39 | 40,44 269 0,00
1 stcj WtkCltsoatsj (VB d&tyd 50 0,20 | 0,00 | 565 23 2,00
394/11 [y 02 M) BodsStd 150 2,65 | 2,33 [ 11,31 77 1,19
Rss6 s 8,31 [11,72 [57,4 369 3,19
I mjcets 35,07 | 33,92 [ 167,58 1100 29,88




1
r
]

JHJdWIsstcOW

ddz 1 ftsdaj HJ dz' ded €
L teOMisdzOw: 1ff O j Osegw 3 dzj Is
i [ 0fmfy bghjorj Cdzj oo J fyé I dlsodddz ,
t6d yd ltedy &3 §dhd, dOddj dts ffstey Y J dzdzts iy ee{c]
sz ter CCOoOdz o | |
1 OolstcOC
18307 [s® 0O MsdsydzOvw dJL c@jindagi 150/3 189 1,3
1/11 1 Zlsj tchtctg® dzg d3ts ydz' o3 20/5 80 0,14
39211 |y O2MAF Otcts a3 150 28 0,02
RIstG ts 297 1,46
] sstets? L OolstcOC
15tc] WkbkClksoatsy ( WB dzsyd 50 23 2,00
9 10|lutst WwkCltseor 2 (wBdsyds 100 47 2,00
RCtcO COBOYUSC 89 O 15 14 0,025
58/11 1 steh fp COtelstsW j dzj &5, 4§ Isd| 150/6/5 88 5,27
305/11, |s Slsdzj IsT dL filsdyr (L 50/15 131 0,40
350/11 | Bts dzts y dz' o3
317/11 [ OC Otets dzdz’ | JLHj dzdw s 100 112 0,00
359/07 |sdMmjd dL MmtsC O 150 104 3,3
mdzjB fhjdduds 2 2BHJtEEH 15 35 0,00
mdzj B o) Odzts? 15 26 0,00
RIstsG ts 510 8,9
L dztsls dzj dzdz’ 2 ts dzH dzd €
230/1 | jdzde" j ©o0OtjdzdSd f dBBOM 80/5 176 0,15
mdzj B h j dzd udzg 2 IcHdES 30 69 0,00
[ sdzts € s 150 87 1,50
RISG ts 332 1,65
IfMmMjcts 1209 1611




jHjodseOw
j dplsstedzed €

sLteOMmls dzOw COljetstedWw: 1 e6BHO Hts 3 dzjls
i [ omMm( 1 dhjomjfedp|Cditecjls I disOBd dz" ,
g 4 ltedy &3 fdhd, dzOddj dzs f steyg G Wy J dadet &Bc
skzter [ [ CCOow " |
1 OolstcOC
18207 |s Oh O W\sdsydzOW dL SChAfdzdad  150/3 5,3 578 | 29,5 191 0,40
3/11 I s oty fipds(dg s 1 dzfimtBle s d3 | 20/54 2,93 | 510 | 10,43 98 0,14
395/11 |s 5 gdz' 2 ZOf dlsts¢ M RBsdzts| 150 2,34 | 2,00 | 10,63 70 0,98
RIstsG ts 10,57 12,88 | 50,56 359 1,52
] sstets? L OolstcOC
o 101 00dks¢ dL " ditseddC O 100 0,34 | 0,14 | 0,62 41 50,0
398/11
15t WtkCltoty (VB d&syds 50 0,20 | 0,00 | 5,65 23 2,00
IBJH
71/05 |[oMmsd Mo iNdd (fBdBdHGE) 20 0,12 | 0,00 | 0,65 3 4
83/11, |akz§ M &Ofht2, SCOwLlsYjd 15010 2,98 | 353 | 874 81 5,00
121/11 |[Wted € OH j dzr € Od3qd
282/11 |1 dYS d, tclz B dzj dzdz’ j d| 50/15 779 | 720 | 81 121 0,09
354/11 |Mskmtsd Mdj s Odzdz o3
171/07 |[s ©" O Gtej ydzj o O tOMM' § 4 80 419 | 2,80 | 24,01 140 0,00
376/11 |ssRfsls dL SCktOecd 150 0,33 | 0,02 | 20,82 85 0,30
mdzj B fh jdzdydy 2 2BHdtese 15 1,14 | 014 | 70 35 0,00
mdzj B tcy O dzts 2 15 0,99 0,18 5,10 26 0,00
RIstg ts 17,54 13,87 | 74,42 491 6,39
VY dzsisdgj dedzr 2 f tsdzH dzd €
137/11 |[{ Ok dL Both j2 MM ®&OMds| 1005 162 | 868 | 9,13 121 5,53
mdzjB fhjdduds 2 2BHdtEES 30 2,28 | 0,27 | 14,01 69 0,00
466/11 |t HtsB O tsB' C dzgtso j dzdzOW 25 1,94 1,18 | 13,07 71 0,00
392/11 |y 02 f MOR OB 150 0,04 | 0,00 | 6,99 28 0,02
RIstg ts 5,88 10,13 | 43,2 289 5,55
I Mmjcet 34,53 37,02 | 174,45 1203 65,46




jHjadlvstcOw

rddz : MmMtejHO
]l sL tcOMmls dzOW COljetstedWw: 1 6tsHO HEts 3 dzjls
) [ OMmMm¢ 1 dhjor i ojnheCdatec jlsq l dlsOd3d dz" ,
t6d uJ ltedy &3 §dhd, dzOdd3j dzty sty G Y J dzdzts fy ®Be
sz to i r [ v CCOdz " |
1 OolstcOC
18207 |s Oh O RtsdztsydzOndz . fp dgdg®fg| 150/3 438 | 587 | 21,67 157 0,40
1/11 I £1sj tofg teds@ fincias{dg sy dz' o3 20/5 161 | 4,10 | 10,43 80 0,14
392/11 [y 02 f MO- Otetsd3 150 0,04 0,00 6,99 28 0,02
RIssc s 6,03 9,97 | 39,09 265 0,56
l ststets? ff tsdzH dzd €
] 101 O0fdkBS dwsfgdsit  d n 100 0,03 | 0,00 | 545 34 0,15
388/07
lstc] WtkCltsoty (VB d&tyd 50 0,20 | 0,00 | 565 23 2,00
I BJH
7105 [[oethd Meixndd (Bektjy) 20 0,11 | 0,00 [ 0,36 2 1,4
67711 |zd dL Mo jnj2 COfkmis’ 150/6/5 290 | 3,93 | 578 70 11,80
d Md3d Is Odzts 2
308/11 [AtedCOH jdz' S dL flkdyr ( 50 6,39 | 6,97 | 2,29 96 0,26
321/07 |sOfkMlsO Mo jy OW Iskzhy dzOw| 100/5 1,98 | 12,02 | 9,50 116 16,20
376/11 |s s 5l (L gL B0 150 0,33 | 0,02 | 20,82 85 0,30
mazjB fhjddyds 2 2BHJiso 15 1,14 | 014 | 7,0 35 0,00
mdzj B oy Odzts 2 15 0,99 0,18 5,10 26 0,00
RIssg s 13,84 | 23,26 | 50,85 430 29,96
VY dztslsdzj dzdz" 2 ff tsdzH dzd €
139/11 |s tslsdzj IsT COlsts¥ j dzt dzr § M 120/5 3,95 6,80 25,73 180 10,7
Il Edzsyc © HBRBOI dgw w 25 1,82 3,13 12,48 90 0,00
mdzj B 2" 3 dzd A H J s o O dzdz’ 30 228 | 027 | 14,01 69 0,00
394/11 Yy 02 ) BsdksC & 150 2,65 2,33 | 11,31 77 1,19
RIstG ts 10,7 12,53 | 63,53 416 11,89
I Mjcts 30,80 | 45,76 | 164,57 1168 44,56




1 jHjodvsteOw
ride : yYdlbejtg
]l 5L tcOfmls dzOW COjestedw: fp 1 GtSHO H S 3 dzj Is
) [ Off( l1dhjorj ojhCdzjtec ol 1 dlsOd3d dzr
ted yd ltedy &3 §dhd, dzOdd3j dats § stey(g g ow yj dz Be
skt i | CCodz| w | |
1 O stcOC
12007 |u iz { B dzts y dz’ 2 fl o tedgd| 150/3 390 | 486 | 12,42 108 0,68
3/11 Il teB s s d M 20//4 293 | 120 | 10,43 65 0,00
39511 |s W j 2 dz 2 BOdf 5[ dstis R ) 150 2,34 20 | 10,63 70 0,98
RIstG ts 9,17 8,06 33,48 243 1,66
l ststots? LOolstcOC
]t WokClssotsy 50 0,20 0,00 5,65 23 2,00
9 10|uts@PtkzCIlstsor 2 (wBdztsydz 2 100 0,50 0,00 11,70 47 2,00
IBJH
7105 |[othd MoiNdy (JBdBdHBE) 20 0,12 | 0,00 | 0,65 3 4
57/11 |1 steh  dL Mo j 3 4 2 C.f kdgisi  150/6/5 2,79 | 364 | 7,67 75 6,17
d fd3j Is Odats 2
261/11, v j Wisj dzd  to' B dz' J skzh vy df 50/15 6,19 | 421 | 751 88 0,28
356/11 | dzz € s
321/11 |1 5 tcj C OtelstsW j oz dzts j ) g 100/3 2,04 56 | 13,63 114 12,1
359/07 |sdmjd dL mMsCO 150 0,22 | 0,00 | 25,89 104 3,3
mdzj B fh jdzdydy 2 2BHdtese 15 1,14 | 0,14 7,0 35 0,00
mdzj B toy Odats 2 15 0,99 0,18 5,10 26 0,00
RIstg ts 13,49 13,77 | 67,45 445 25,85
Ul dzsls dgj dzdz” 2 f 5dzH dzd
215/11 |[ dBdzi Is dzOIskzteOdz! dz' 2 M 30O 80/5 7,52 13,46 1,86 148 0,15
mdzj B h j dzd ydzg 2 IBHJ G 30 2,28 | 027 | 14,01 69 0,00
496/11 |s sty dCd RBsdsyd j 37 218 | 422 | 2257 141 0,03
39211 |y @2 ) MOR OB 150 0,04 | 0,00 | 6,99 28 0,02
RIstsg ts: 12,02 17,95 | 45,43 386 0,2
IfMmMjcts 35,38 | 39,78 | 163,71 1144 31,71




1 H] davlsstcOwW
[ 4 df WiIsded yO
] 5L tcOMmls dzOW COjestecdw: M 1 EBHO HB 3 dzjls
) [ O 1dhjorj ojhCdzj tec J Is l dlsOd3d dzr ,
tod ud ltedy &3 §d0 d Odzde® d e3glzelzly f steyq G \ j dzdzts ) o]
skt 1 [ CCOod " |
1 Oo st OC
18207 |s O O disdtsydzOw dL ¢ h j dzO 150/3 5,10 5,50 23,80 164 0,75
1/11 lElsjtcBtectsH M dGZOMdzsd fn dz 20/5 1,61 4,10 10,43 80 0,14
392/11 [y ©2 f MO- Otctsd3 150 0,04 0,00 6,99 28 0,02
RIstsg ts 6,75 9,60 41,02 272 0,91
]l ststots?2 LOolstcOC
] 10 100 ds8&tc®c d 100 0,03 | 0,00 5,45 34 0,15
yofm
388/07
18 tcj WiclH Wistsasnyjdzts j ) 50 0,20 0,00 5,65 23 2,00
IBJH
7105 [[otshafjsndi (BcEktjy) 20 0,11 | 0,00 0,36 2 1,4
99/07 sz dL Botsh j2 d filsdyd 150/6/5 2,84 3,8 9,0 74 6,7
306/11, |1 dIs sy S kB dzj dzdz” j (L O 50/15 7,04 7.4 4,42 119 0,19
350/11 [ mMtskzmtsd BB dzts Yy dz' o
316/11 |t dfp fted§ zh j dzdz 2 100 242 35 24,44 142 0,00
376/11 |s sy tsls dL fizh j dz’ A w 150 0,06 | 0,00 | 16,53 66 0,00
mdzjB fhjdedydz 2 2tHJctso 15 1,14 0,14 7,0 35 0,00
mdzj B oy Odats 2 15 0,99 0,18 5,10 26 0,00
RIstsg ts 14,63 15,02 66,85 464 8,29
L ff ddigilsdzdz" 2 1 tsdzH dzd €
238/11 |1 O jCOdeC O dL bottesc O M 80/15 9,32 |8,22 25,7 249 0,57
Bs dzts € 5
mdzj B fh j dzd ydzg 2 30 228 | 027 | 14,01 69 0,00
[ BdzisC 5 150 4,20 480 |7,10 87 1,50
RIsts@ ts 15,8 | 13,29 46,81 405 2,07
l mMBc 37,41 | 37,91 165,78 1198 13,42
Ilmies LO 10 Hdz] ?: 375,22 | 402,71| 1676,38 11815 28,79
dtcjHdz) J Stdzdyjmlsets § dh 37,52 | 40,27 | 167,64 118 28,79
lcthsmisOodzj degdd d3j dzz v B ted L5 p Podf skztc Bdz# H d SCkdzd dzOtcdzr = dL H jydEF T eH dzyf std le @dzd 't

f ted dzls ¢240 Isks;dzd ©
pfj R tOesgAr sy -
feddss 2005 ¢.

Biydfizte

B dz¥ H

EyteiyHjddwnae

q

¢ Iz dzd dzOte dz' A
- g (i Qsete@izq S jtedpdy Y devlfe B0 5He . € b dzd dzOte dz' 7

dL HJ dzdcu sH=ORYAzdYCd Idel) dpdiv 19'Ctds dat deigd St

dL HJjdzd 2



1 4 HJ dzw:
rd dz' :

fjtco OwW
f sdzj HJ dz' dzd €

I 5L OMsdOY cizff O: 3 His 7 dzj s
- fomm{ 1dhjerj ojflCdajteeyls I dlsOdkd dz ,
64 uJd Vtedy 3 f dlz0d di3j dztso Odzd| § stey ¢ Y J dzdzts iy e
lsizter i | ] v CCOow 4 | |
1 OolstcOC
182/07 |s Oh O dBtsdzsydzOY dL  wydzj o| 200/5 6,83 | 7,77 | 40,20 258 0,13
1/11 I ZlsjtBtotsH M RBOMdsd M 30/5 2,58 | 4,18 | 15,40 110 0,18
392/11 |y 02 f MOR Okt 180 0,06 | 0,00 | 9,99 40 0,03
Rs5G 5 9,47 | 11,95 ]| 65,59 408 0,34
l ststcts? LOoIstcOC
110 Jutg¢ WtckzClstsar 2 (wBdesy| 150 | 0,75 | 0,00 | 17,55 | 71 3,00 |
I BJH
RCtcO COBOYS SO OV 30 0,3 2,1 2,1 28 0,05
6711 |z2d dL Mo jxj2 SOfkMmisr Mm| 200/6/5 386 | 524 | 7,71 93 14,75
fd3j Is O dats 2
306/11 |1 dlstsySd tokzedzj dz dv. §| 7030 9,93 | 10,61 | 6,33 160 0,2
350/11 | dts dzts y dz' o3
317/11 || Of 5@ 9 Otc dzOV 150 552 | 4,52 | 26,45 168 0,00
376/11 |s ts oY tsdsL sddz @ 180 0,40 | 0,02 [ 24,98 102 0,36
mdzije fhjddyds 2 2cHdcse 20 152 | 0,8 | 9,34 46 0,00
mdzj B g3 O dats 2 15 099 | 018 | 5,10 26 0,00
RSG5 22,52 | 22,85 | 82,01 623 15,48
LY dztsls dzj dzdz’ 2 ff tsdzH ded €
237/11 [ O j S OdC O  dL lso stctse O] 100/25 18,57 | 14,31 | 31,16 308 0,27
mdzijeB fhjddyds 2 2cHdicse 30 2,28 | 0,27 | 14,01 69 0,00
[ cdzs¢ s 180 504 | 576 | 852 104 2,34
Rs5G 5 25,89 | 20,34 [ 53,69 481 2,61
Il mMicgts 58,63 | 55,14 | 218,84 1583 21,43




1JHJEV: §Jtco OV
[jd@ : olststedsS
Il BLiOMsdzOW c3CAIsjcBodyls
- [OmMm{ 1 dhjorj ojflCdatecyjls I dlsOiqd dz'
o ud ltedy &3 ydhd, dzOddsj dats f steyo G y j dabizts ) &3e
sizter CC O
[ [ v ] o | |
1 OolstcOC
182/07 |s Oh O s dztsydzOw dL tso Mw dd 200/5 7,24 | 9,24 | 38,00 263 1,74
B0 ) dzts o3
3/11 1 Elsj toB t38 i doizd o s 1 dzf t3tc s d3 305/6 398 | 598 | 15,40 130 0,18
395/11 |[stsW j2d& 2 ZOEES 6 0 180 285 | 2,41 | 14,36 91 1,17
RSG5 14,07 | 17,63 | 67,76 484 3,09
| st ? L Qo lstcOS
110 [ O0fdlsS rFLw S dz 150 0,06 | 0,00 | 8,18 51 0,23
388/07
AtclzCIsr Mo YE)] (VB dz 100 0,04 | 0,00 | 11,3 46 10,00
IBJH
7105 [[otshd Mejqdj (BGEktjy) 50 0,34 | 0,00 | 09 5 3,5
81/11 |ubkf COtltsW jd dF 2 M ctste| 200/6 6,58 | 4,23 | 14,92 123 4,56
208/11 || sdzzB y' dzj dzd o' j 70/30 6,42 | 411 | 9,21 104 9,23
322/11 |1 stcj C OtlstsW jdz desj M) dsstg 150 3,12 | 510 | 18,57 132 5,40
376/11 |s s sls dL S kZwOGd 180 0,40 0,02 | 24,98 102 0,36 |
MmdzjB fh jdedyds 2 2BHdIiso 20 1,52 | 0,18 | 9,34 46 0,00
Mmdzj B o) O dzts 2 15 099 | 0,18 | 5,10 26 0,00
RSG5 19,37 13,82 | 83,02 538 23,05
Vi dztslsdzj dadz 2 ff tsdzH dzd €
215/11 | [ d3dzj Is dz0lsktcOdz dz 2 fp o3 100/5 9,28 | 16,63] 2,93 201 0,19
Mmdzi B fh jded ydg 2 AHdEHS 30 228 | 0,27 | 14,01 69 0,00
474/07 |1 EdzsyS O t smd2 Ms Ow 40 2,86 32 [222 139 0,46
394/11 [y 02 M) Kwsdst sdg 180 267 | 234 | 1431 89 1,20
RSG5 17,09 22,44 | 53,45 498 1,85
Il Mjets 50,62 53,89 | 223,71 1617 38,22




1 J Hifdg"ce OV

rjde@ : Mtej HO
]l sL tcOMmls dzOW COljestedw: fp 3 HEIS 7 dzjls
) [omMm( 1dhgp ojhjfiCddtecjls I disOBd dz" ,
64 uJd ltedy &8 §dhd, deOdd3j datsy § stey ¢ Wy J dadet ke
sktr 1 r | v CCOodz ¢ | |
1 OolstcOF

120/07 (a2 dBsdsyde 2 i o jtedzdh j§ 200/5 5,74 6,36 | 18,83 155 0,91
1/11 lElsjteBtesH M @OMdAzsd fdd 30/5 2,58 4,18 | 15,40 110 0,18
392/11 |y O2MGfF Otesd3 180 0,06 0,00 9,99 40 0,03

RIstsG ts 8,38 10,54 | 44,22 305 1,12

]l ststets? LOolstcOC
l 10|y 0fdlts¢ gL dLs &30 150 0,05 0,00 8,18 51 0,23
388/07
I BJH

7105 [[otshd Moiydy (§JsdidHIGE) 50 0,3 0,00 | 145 7 10
57/11 1 steh dLr Mo j SiRie KN dinjlsds,| 200/6/5 3,91 4,85 | 11,22 104 8,23

Md3d Is Odzts 2
307/11 |[sskdzj Is' , ke dzj dedz’ § dL 70 8,49 | 12,18 | 6,90 172 0,26
321/07 |s Of EMls©O Mo jfj ORO figdzts g dzO W 1503 2,97 7,98 | 14,25 148 24,60
376/11 |s s tsls LW dndzts § dz' - 180 0,40 0,02 | 24,98 102 0,36

mdzjB fh jdzdydzy 2 265HJEEe 20 152 | 0,18 | 9,34 46 0,00

mdzj B toy Odzats 2 15 0,99 0,18 5,10 26 0,00

RIstsG ts 18,52 | 25,39 | 73,07 605 41,45

VY dztsilsdzj dzdz" 2 ff tsdzH dzd €

183/07 |s Oh O dsdzsydzOW dL Gted ydg 200/5 6,33 8,65 | 37,60 253 1,74
460/11 |stej dzH j dz! MmMOn Otcdz’ 2 40 2,83 5,25 | 22,30 149 0,00

[ sdzts € s 180 5,04 5,76 8,52 104 2,34

mdziB fhjdaduydegr 2 2BHJtctse 30 2,28 0,27 | 14,01 69 0,00

RIssGts 16,48 | 19,93 | 82,43 575 4,08

I MmMjcet 43,43 55,86 | 207,9 1536 46,88




1 J Hifdg"ee OV
rddajlsejta
]l BLteOMIsdzOwv: COIsj etsted? dzj Is
) [ Omm 1dhjord oifCdzj tec | Is 1 dlsOd3d dz" ,
g ud ltedy &8 §dhd, deOdd3j dats § steyd ¢ Y dadzts ) &G
sktr i | | v CCOod ¢ | |
1 D06
182/07 |s O O BsdsydzOY dL § " j dzd| 200/5 740 | 7,50 | 38,40 250 1,30
1/11 IS GBsH ) ®OMAsd mdd| 305 258 | 4,18 | 15,40 110 0,18
377/07 |y 02 ) fifO A0 tegsdizts 3 18014/5 | 0,16 | 0,00 | 14,4 57 1,98
RISSG ts 10,14 11,68 | 68,2 417 3,46
l sstets? L OolstcOF
110 [\ Of dls &A" jqo ezt § 150 0,05 | 0,00 | 8,18 51 0,23
Yofm
38807
AckCl' Moixndi ("B dsts) 100 0,04 | 0,00 | 11,30 46 10,00
I BJH
7105 |[othd Mojndi (BCktjy) 50 0,34 | 0,00 | 0,9 5 35
84/11 |ub§ COklXsWij de'dgdy &3 W icd 200/20 4,86 | 4,03 | 12,04 103 7,50
255/11 |1 dlssuyCd ' BdZ J (LO§J Y| 7030 9,61 | 3,99 | 7,33 97 0,34
354/11 | dsj Is O dzdz’ ofs
316/11 [t dfftedzh j dzdz’ 2 19 BOMdzsd  150/3 3,12 | 11,75 | 30,7 239 0,00
350/07 |sdMmjd dL MsS O 180 0,26 | 0,00 | 31,07 125 3,96
MdzjB 0 jdduds 2 2BHJEES 20 152 | 0,18 | 9,34 46 0,00
mdzj B oy Odzts 2 15 0,99 0,18 5,10 26 0,00
RISSG ts 20,7 20,13 | 96,48 641 15,3
VY s ls dzj dzdz’ 2 § t5dzn dzd S
240/11 |1 zHddze dL Isestetsc O Mmd3w B 100/25 13,61 | 10,67 | 14,63 209 1,33
B d&Zs ¢ B d
mdzj B fhj dzgd ydz 2 26H( 30 2,28 | 0,27 | 1401 69 0,00
[ BdzsC ts 180 5,04 5,76 8,52 104 2,34
RISBSG s 20,93 16,7 | 37,16 382 3,67
l micects 51,86 | 48,51 | 221,32 1537 32,66




1dHJdv: §jtco Ow
r jdz @ fwisded yo
I BLEOMIsdOv: ) COHEstedY dzjls
- fomm( 1dhjerj ojfCdjtecyls I dlsodkd dz ,
ltedy &3 fdhd, dOddj dzs ff steygq G Wy J dadet ®Be
ted yd J r 0] CCOo o
szter
1 OolstcOC
181/05 |s Oh O d3tsdztsydzOW L 3O dzdats| 200/5 6,00 7,04 | 33,20 219 0,56
3/11 I ZlsjteBtetsH M M’ tisd 30//6 3,98 1,88 | 15,40 93 0,00
392/11 [y 02 f MOR Ok 180 0,06 | 0,00 | 9,99 40 0,03
RSG5 10,04 | 8,92 | 58,59 352 0,59
lsstes?2 L OoalstcOC
]l 10]uts¢ WickzClstsa ™ 2 (wBdesy 150 | 0,75 | 0,00 | 17,55 | 71 | 3,00 |
I BJH
71005 [[otshd Moajqdj (fsddHEt) 50 0,3 0,00 | 1,45 7 10
98/15 |w ki Ctoj Mmis! wdam¢ d?2 fn  §| 200/6 1,19 | 3,93 | 487 61 7,9
312/11 |s dzj dzq Cktedde j M tdmtsdg 70/30 12,54 | 12,36 | 6,74 177 0,46
356/11 M) IsOdedz” 3 ) dzz € 53
321/11 |1 s 6] S OtclstsW jdz detsjy fp o8O 150/3 3,06 7,20 | 20,44 159 18,16
376/11 |stsdftsls dL S ktOcd 180 0,40 | 0,02 [ 24,98 102 0,36
m@ge fhjddyd 2 2tHdtess O 20 1,52 | 0,18 | 9,34 46 0,00
mdzj B tc) O dats 2 15 099 | 048 [ 5,10 26 0,00
RIssE 5 20,0 | 23,87 | 72,92 578 36,88
VY dztsls dzj dzdz™ 2 f tsdzH dzd €
469/11 |1 EdzsyS O HBdBON dgv v 100 7,28 | 12,52 | 53,92 358 0,00
394/11 [y 02 ) Bdsltsd 180 2,67 | 234 | 14,31 89 1,20
AolClsT Mo jxdj (WBdsSts) 60 0,024 | 0,00 | 6,78 28 6,0
RIsSE 5 9,97 | 14,86 | 75,01 475 7,20
I mjcts 40,76 | 47,65 | 224,07 1476 47,67




1JHJAEZV: olststeOW
rddz @ §gwdaj HJ dz' ded €
l sL tcOfMls dz@¥3 @ teiladf 70 :dzj Is
) [fOomMm(¢ 1 dhjor i ojfCdzjtec ] Isq 1 dlsOd3d dz" ,
t6d uJd ltedy &3 §dhd, dOddjdts §steyd ¢ Y dadzts ) &G
sktr i | | v CCOod ¢ | |
1 OolstcOC
183/07 |s Oh O s dzts ydzOW d L dydlidaipd  200/5 6,33 8,65 37,6 253 1,74
1/11 I ElsjtcBtetsH fn ROMdsd Mmdf 30/5 2,58 4,18 | 15,40 110 0,18
392/11 |y ©2 fp MO- Ot 180 0,06 0,00 9,99 40 0,03
RIssGts 8,97 1283 | 62,99 403 1,95
l Isstets? LOolstcOF
110 g ts5¢ WtekzCIlssar)? (wBdztsy 150 0,75 0,00 17,55 71 3,00
I BJH
RCtcO COBOYSCso OW 30 0,3 2,1 2,1 28 0,05
58/11 |J1 tsteh ) COwlstsW j dzj &3, 4§ Isd| 200/6/5 4,33 6,12 | 11,28 117 7,03
305/11, s tslsdzj IsT qL flsdyr (L 70/30 10,80 | 9,92 | 11,03 177 0,59
350/11 | 3ts dzts y dz' o3
317/11 | Ofh O tslseo OtcdzOW 150 5,562 4,52 | 26,45 168 0,00
359/07 |sdMmidz dL MO 180 0,26 0,00 | 31,07 125 3,96
MmdzjB fh jddyds 2 2BHJKEES 20 1,52 0,18 | 9,34 46 0,00
mdzj B tc) Odzts? 15 0,99 0,18 5,10 26 0,00
RIssG s 23,72 | 23,02 | 96,37 687 11,63
VY dztsilsdzj dzdz" 2 f tsdzH dzd &
230/11 [[ jdedo' j 90tjdedSd f d&OM| 100/5 14,83 | 10,86 | 15,31 218 0,19
mdzjB fh jddyds 2 2tHdtese 30 228 | 0,27 | 14,01 69 0,00
[ sdzts € s 180 5,04 5,76 8,52 104 2,34
RIssG s 22,15 | 16,89 | 37,84 391 2,53
I MmMjcet 55,59 | 52,74 | 214,75 1552 19,11




1JHJAEZV: olststeOW
ddz: olststedzd €
SLcOMIsdZOW:.c3CObEesdw dzj Is

e ™

) foOomm¢ 1 dhjorji ojfCdz tea ] Is( 1 dlsOod3d dz" ,
g ud Vwedds §dhd, dzOdd3jdetse| §steyd ¢ Y4 dadets ) &G
sktr i | | v CCOod ¢ | |

1 O stcOC
182/07 |s Oh O dysdzsydzOW dL S kSt 200/5 6,36 6,94 | 403 249 0,53
3/11 lklsjteBtotsH M RO fifeidsogy i) 30/5/6 3,98 598 | 15,40 130 0,18
395/11 |stsW j 2dg 2 2o dIsts ¢ ) 180 2,85 2,41 | 14,36 91 1,17
RIstsc ts 13,19 | 15,33 | 70,06 470 1,88
l sstes? LOolstcOC
l 107y 0fdlts¢ dL hdf seded ¢ O 150 0,51 0,21 0,93 61 75,0
Yofm
398/11
ANtclzCIlsT Mg is) ( 100 0,04 0,00 11,3 46 10,00
IBJH
71/05 Joshd Modidy (fsd3dHIBEK) 50 0,3 0,00 1,45 7 10
83/11, |k M dOght2, COtlssWjdg 200/10 3,97 4,71 | 11,65 105 6,67
121/11 |[Wted € OH j dz € Od3d
282/11 (1 dlstsyS d, tclzB dzj daflzi W J dgzdz| 70/30 18,4 15,2 | 4,45 221 0,01
354/11 | f MskmMtsds Md3d Is Odzdz" o3
171/11 |s Oh O Gtej ydzj o OW tcOMmMmr { 100 5,24 3,50 | 27,60 163 0,00
376/11 |stsdBf sls dL CktOecd 180 0,40 0,02 | 24,98 102 0,36
mdzjB fhjidzdyds 2 2B8Hdtetse 20 1,52 0,18 9,34 46 0,00
M dzj o) Odats 2 15 0,99 0,18 5,10 26 0,00
RIssgts 30,82 | 23,79 | 84,57 670 17,04
Vind dzj dedz’ 2 f tsdzH dzd €
137/11 |t Ok dL Botsh j2 150 2,36 6,86 | 14,41 131 8,19
mdzijB fhjidzdyds 2 2BsHdtetse 30 2,28 0,27 | 14,01 69 0,00
466/11 (e HtSB O tsB' C dztso j dzdzOW 40 3,10 189 | 20,91 114 0,00
392/11 |y 02 M MO-Otetsdi 180 0,06 0,00 9,99 40 0,03
RIstsc ts 7,8 9,02 | 59,32 354 8,22
Il M et 52,36 48,35 | 226,18 1601 11,14




1JHJEY: olststcOW
ride : MmMtejHO
]l 5L tcOMmiIs dzOW COjetstedw: M 3 H S 7 dzj Is
- fomm{ 1dhjerj ojffCdgtcyls I dlsOkd d&z ,
4 ud ltedy &8 §dhd, dzOdd3j dats| § steyo G Wy J dadet &6
Is tgr ;o ] CCOd ¢ | |
1 OolstcOC
182/07 |s Oh O dssdztsydzOW dL tedftse| 200/5 584 | 7,76 | 28,67 208 0,53
1/11 ) Zlsj toB tc s HNdgd a®dirsds 30/5 2558 | 4,18 | 154 110 0,18
392/11 [y 02 M MOROtttd 180 0,06 | 0,00 | 9,99 40 0,03
RSG5 8,48 11,94 | 54,06 358 0,74
l sstets 2 LOolstcOS
388/07 [1 Of dIsts¢ dL Mmbkh jdr s ws| 150 | 0,05 | 0,00 | 8,18 | 51 | 0,23 |
I BJH
7105 [[otshd Meajqdj (Bscektjy) 50 0,34 | 0,00 [ 09 5 3,5
67/11 |z d qL Mo jyg?2 COf kzMmis| 200/6/5 386 | 524 | 7,71 93 14,75
d fd3d Is O dats 2
308/11 [AtedSOHjdz € dL Hldyr ( 70 10,16 | 7,77 | 6,02 135 0,35
321/07 [sOfkMlsO® Mo jyow Iskh vy dd 150 297 | 558 | 14,25 126 24,60
376/11 |stsdftsls dL dL¥ &3O 180 0,40 | 0,02 | 24,98 102 0,36
mdzje fhjddyd 2 2tsHdte 20 1,52 | 0,18 | 9,34 46 0,00
mdzj B o) O dats 2 15 099 | 0,18 | 5,10 26 0,00
RIsSGE s 20,24 | 18,97 | 68,3 533 43,56
VY dztsls dzj dzdz" 2 f sdzH dzd €
139/11 [stslsdzj IsT C Gijo IsitOhinjdets dgtz” 150/10 4,9 11,36 | 32,16 252 16,05
mdzj B fhjdzd ydz 2 AHdts 30 2,28 | 0,27 | 14,01 69 0,00
I EdzsyS O H B0 dv W 50 3,64 | 6,25 | 24,96 180 0,00
394/11 [y 02 ) BodksC s 180 2,67 | 234 | 1431 89 1,20
RIsSCE S 13,49 | 20,22 | 85,44 590 17,25
I Mjets 42,26 | 51,13 | 215,98 1532 61,78




1JHJEYV: olststcOW
rddg @ ydlsej tc@
] 5L tOMmls dzOW COjcetstedw: 3 HBs 7 dzj Is
i [omMm¢ 1 dhjoerj ojfCdygtcjls I 6 Oodd dz
g ltedy 8 §dhd, dzOdd3j detsj § stey G Y J dzdzts iy &Bc
sz ter b | ] v CCOo "
1 OolstcOC
12007 |abkf dsdtsyd 2 1 &zOfh 2, 200/5 574 | 6,36 | 18,83 155 0,91
395/11 |stsW j2d 2 dzOf dlstsS fyp dstsdz 180 285 | 241 | 14,36 91 1,17
3/11 1 Izl j tofg tofip'Hic ts d3 30/6 3,98 1,88 | 15,40 93 0,00
Rs5G 5 12,57 | 10,65 | 48,59 339 2,08
lsstes?2 L OoalstcOC
] 10 |uts¢ WickzClstsar 2 (wBdesy| 150 | 0,75 | 0,00 | 17,55 | 71 3,00 |
I BJH
710005 [[otshd Moajqdj (foddHBt) 50 0,3 0,00 | 1,45 7 10
57/11 |1 tsteh dL Mo j x4 2 COf zmls| 200/6/5 3,72 | 5,02 | 10,22 101 8,23
fd3j Is O dats 2
261/11, | § Wlsj dzd ter Bdz" 4 Iskhvy dg 70/30 837 | 546 | 8,96 105 0,37
356/11 |Mdsj s Odedz” d3 M dzz ¢ s o3
321/11 |1 v 6] S OtclstsW j dz' dats fp ds| 150/3 3,06 7,2 | 20,44 159 18,16
359/07 |sdfmjdz dL MsSO 180 0,26 | 0,00 [ 31,07 125 3,96
mdzie fh jddyds 2 2tHdise 20 1,52 | 018 | 9,34 46 0,00
mdzj B gy O dats 2 15 099 [ 0,18 | 5,10 26 0,00
RIssd 5 18,22 | 18,04 | 86,58 569 40,72
v Y dztsls dzj dzdz’ 2 f tsdzH dzd €
215/11 | [ B3dzj s dzOlsztc Odz' dz" 2 fp ds 100/5 9,28 | 16,63 | 2,93 201 0,19
mdzj B fh Pdedi qde'sDd Odzdz 2 30 228 | 0,27 | 14,01 69 0,00
496/11 |s sty S d dBsdsyds | 50 3,20 | 566 | 32,27 192 0,03
392/11 |y 02 f MOR Okt 180 0,06 | 0,00 | 9,99 40 0,03
Rs5G 5 14,82 | 22,56 | 59,2 502 0,25
Il mict 46,36 | 51,25 | 211,92 1481 46,05




1dHJdW: olsstcOW
rddg : ¢wisdzed yo
]l 5L tcOfls dzOW COljestedw: M 3 H S 7 dzj Is
B oMM 1 dhjord eojflCdtecjls l dlsOd3d dz" ,
g ud ledy &3 §dhd, dzOdd3j dets § steyo G Wy d dzdat 3G
skzter i | | v CCOow 4 | |
1 OolstcOC
182/07 |s Oh O d3ts dzts ydz@ W 3@ in dzif ezy dzO 200/5 6,74 7,27 31,2 217 0,99
1/11 Il lsjteBtetsH f 30 Mdzts 3 fndz 30/5 2,58 4,18 15,4 110 0,18
392/11 |y 02 M MO- Ottsd; 180 0,06 0,00 9,99 40 0,03
RIstsg ts 9,38 11,45 | 56,59 367 1,2
]l sstets? L OolstcOC
o 101 o0ofdss@tcdc 150 0,05 0,00 8,18 51 0,23
388/07
ANglSIsr Mo jiNdd (wWBdstts 60 0,024 0,00 6,78 28 6,0
IBJH
71/05 Joshd Meajiydj (tektjy) 50 0,34 0,00 0,9 5 3,5
99/07 g bz q’ gL teowsh j2 d fisdyd | 200/610 3,79 5,07 12,0 99 8,9
304/11 |1 dzts dL Sktdyr 200 20,30 | 19,89 | 35,69 377 1,01
376/11 |stsdi3f tsls dL Mmkh jdzr = wBds 180 0,40 0,02 | 24,98 102 0,36
mdzjB fhjdzdyds 2 2tsHdtetse 20 1,52 0,18 9,34 46 0,00
mdzj B tc) Odzts 2 15 0,99 0,18 5,10 26 0,00
RIstsg ts 27,34 | 25,34 | 88,01 655 13,77
VY dztsisdgj dedzr 2 f tsdzH dzd €
238/11 (1 O j S OdzS O dL beastese © | 100/20 11,63 | 10,28 | 32,13 267 0,60
Bs dzts € 5 d3
mdzji B fhjdedydz 2 30 2,28 0,27 | 14,01 69 0,00
[ sdzsC 5 180 5,04 5,76 8,52 104 2,34
RIS5G 5 18,95 | 16,31 | 54,66 440 2,94
l Micet 55,74 53,1 | 214,22 1541 24,14
IMmMiets LO 10 Hdzj 2: 497,61 | 517,62 | 2178,8 15456 349,08
9
dstejHdzjJ StsdzdydMmlses Hdh 49,76 | 51,76 | 217,88 1546 34,91
ctitsmig @afdf o3 dzv¥ d mfuseistedespOds jyd flsktc Bdz¢# H d CEkdzd dzOtcder = dL H NAEF T éH dzyf std e @dzd v

ftoddzls chBIstedzd ¢ t6j yjflbizte
ofMjR GBEOLEo Olj d dz A
fteddzls 2005 ¢.

B dz¥ H d SkdzddzOtedzr = dL HJj dzdec?u BHEORYdzdCd Isa®) dediv® 4GS di vz Qists:
Zytej y Hj clade E% dzaks M pPj 4 Is I tzd B ditct M 20 & dzOtedz =7 dL H j dzd 2






